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EXERCISE 19.15

1
1. / dx
4x?2 4+ 12x + 5

Solution:
Let

1
= f4xz+12x+5
Taking out ¥4 as common, then we get

IJ’ 1 q
=—| —dx
4 :~;9-|—3:ns:+E

4
Adding and subtracting (3/2)* to the denominator

2

zlf L a
Heramde Q-6

The above equation can be written as

=EJ-( S)E_Idx

X+§
Let
3
(K+ﬂ=tm"m
= dx=dt

So, substituting the t values we get

1 1

I Y-
11 t—1

I:Ex2x1mdr+1+c
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. 1 1 X—a
[sun:e,J-XE_—de: > % alﬂg |x+ al + (]

x—E—l
Izélng —&—|+c

= [Using (i)]
: 11 2% — 1 .
8 %|x+s5l" "

1
2. / dr
x?2 — 10x + 34

Solution:
Let

_ f 1
x% —10x+34

1
1= J-XE— Tox+ 34 %
Adding and subtracting 5° to both sides

1
_J-:1;2+2.~a:><5+(5)2—(5]|2+34dX

The above equation can be written as

- | G
letx=5=t__
= dx=dt

So, substituting the values of t we get

1
I:J-t?+{3)?dt

I 1t ‘1t+
=3tan (3) C
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. J' 1 q lt 4 (X) .
since, /0¥ = —1dn - C
[ x2+ (a)2 a ]

I
=380 (5 *C ysing ()]

I lt X5
= —tan
( 3

3
1
3. / — dx
14+ ax — x?
Solution:

[=[——dg=[——dx

et 1+x—x? —(x%—x—-1)

) +cC

The above equation can be written as

ZJ-—(XE—:LX—I)dK

Add and subtract ¥ to both sides

! d

—{:XE—X—E—I-I-%)

The above equation can be written as

ey

On computing we get

=J- VG 5 - dx
5 1)?
(%) -¢-9))
1 EHX—E)
I = og 2 2 +C
V5 |5 1

2x7 7 -E
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. 1 1 X—a
[smce,J-XE_—{:a)de= > alug L{+ a| + (]

1 VE+2x—1
V5 Vb —2x+ 1

1 V5 —1+2x%
N VE+1—2x

1
4./ dx
22 —x — 1

Solution:

I= +cC

I= +c

1

Let I'= fﬁxz—x—l dx

Taking out 2 as common we get

1J’ 1 q
=-| ——F—dx
2) o _x_1

2 2

Again adding and subtracting (%)? to the denominator we get

)

=lf ! d
Herads (-0 3

The above equation can be written as

1 1
=EJ-(K_1)E _idx
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3
1 1 t—3
[==x 31ng 3|t ¢
EXE T,+E
1 1 X—a
[SlIlEE,J- T (a)2 X = glx+a|+c]
I=Elng i S
“ata [Using (i)]
I 11 x—1 N
3%l
1
5./ dx
x? 4+ 6x =13
Solution:

In the denominator we have, and it can be written as
X2+ 6x+13=x*+6x+32—-32+13
The above equation can be written as

_(x+3)*+4

Substituting these values we get

/ = | 5

Let x+3 =t

1:2+ﬁ~c+1a {\:+a +2z

So,

Then dx =dt

1t
t=-tan "-+c

1
fﬁ)uzzd yEan s

1 1 X
[sim:e,J- mdx = Etan‘l (E) + c]

lt 4 XT3
—tan
2 2

+C
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